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AN SEMRSH
B SQRRNM L SIASED
Rl FAE YA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O4 FH< Ml 10,0002 %1, 1845 11,840
= 3,552
== 2,486
[Ea 5,802
402 QI2F X201 & 168,250 132,100 26,150
= 110,775
== 15,825
[Ea 31,650
03 2IZHAETAIHHI 158,250 132,100 26,150
ORI AI (R )
2,000 * 158, 2505 *50% 168,250
= 110,775
== 15,825
o 31,650
2020l 4 29 35,000 41,800 26,800
201 Eer23 | 2,000 2,200 A200
01 At2tltl 2,000 2,200 A200
O2DYol ZAL 2E 7Y
80,0003 #2500 A 2,000
206 M=l 33,000 39,600 26,600
01 M=4l 33,000 39,600 26,600
OZ 10l Mz 7
110,000& x2504 =% 123 33,000
Al 201 AL HEXEH] XI& 36,000 36,000 0
= 3,290
= 987
o 31,723
301 Eet2 NS 36,000 36,000 0
= 3,290
= 987
Ea 31,723
14 DBt 2 a3 36,000 36,000 0
OAl 2t0IZ AL S EHRIEH| X2 (2HIF0129,420
) 75,0003 48024 36,000
= 3,290
= 987
[Ea 31,723
2clsIt SEJ| Hedl A 2,080 2,080 0
s 624
s 1,456
307 212+01™ 2,080 2,080 0
[ 624
Ea 1,456
02 IHB A HE L 2,080 2,080 0




AN SEMRSH
Hu: SHRINH U SHASEIH
Rl FAE YA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OQel=ot S2J| el X
2,600, 0002 *80% 2,080
= 624
Ea 1,456
EEAMNESIH HASZH N2 12,960 12,960 0
== 3,888
o 9,072
307 212+01& 12,960 12,960 0
[ 3,888
T 9,072
02 LB HAHE L 12,960 12,960 0
OZZA=sIt HAESHH N
1,620 %10,000 +80% 12,960
= 3,888
o 9,072
HIrassE g2 X2 10,000 10,000 0
= 1,125
= 338
o 8,537
301 LEtE N = 10,000 10,000 0
= 1,125
S 338
= 8,537
14 IIEt2 83 10,000 10,000 0
ORA RIISS AVHI(RHIZI} 7,75082)
250,000 x40 10,000
= 1,125
< 338
s 8,537
HAEE SASAE AL 31,000 31,000 0
= 9,300
Ea 21,700
206 MH=H| 31,000 31,000 0
=S 9,300
s 21,700
01 M=8l 31,000 31,000 0
OHXIZEY HYALSAAAS
2,500 12,4005 31,000
< 9,300
= 21,700
s¥EYF 4sA=)| €1 X 4,000 0 4,000
= 1,200
Ea 2,800
402 2IZtA=01d 4,000 0 4,000




AN SEMRSH
B SQRRNM L SIASED
Rl FAE YA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,200
s 2,800
02 DIZHAFE A2 X (01 R TH ) 4,000 0 4,000
OSHEYT NSAS)| & X8
4,000,000& *2CH*50% 4,000
= 1,200
Ea 2,800
FIs28 PEEH L AFZeXJ(HEAIY) 1,700 1,900 A200
== 510
o 1,190
201 =3 1,700 900 800
< 510
= 1,190
01 At2teltl 1,700 900 800
ORJlse 72 & AZ2AL X (HE
Abed) 1,700,0002 %14 1,700
= 510
Ea 1,190
SIS MAASA SHetr= X2 52,000 52,000 0
= 10,400
= 10,920
[Ea 30,680
301 LEtE N = 52,000 52,000 0
= 10,400
= 10,920
= 30,680
14 IIEt2 83 52,000 52,000 0
O82XS dAANEA Sdat+=(2HIFIt
5,200 &) 400,000 *1305 52,000
= 10,400
< 10,920
s 30,680
St2EY HlgSE N2 8,380 8,380 0
= 2,514
Ea 5,866
206 MH=H| 8,380 8,380 0
=S 2,514
s 5,866
01 M=8l 8,380 8,380 0
Ostead HLAS XA
5,000&*1,6765 8,380
< 2,514
= 5,866
248 LES XA 11,000 23,000 212,000
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AN SEMRSH
B SQRRNM L SIASED
Rl FAE YA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 2,800
402 2IZtA=01d 4,000 4,000 0
=S 1,200
s 2,800
02 RIINEASEZ(0IETHR) 4,000 4,000 0
OIIEEYY wa 2E= FETY| N
8,000, 0002 *1JH 2+50% 4,000
< 1,200
s 2,800
SO0 =RESM X2 16,000 0 16,000
= 4,800
Ea 11,200
206 MH=H| 16,000 0 16,000
=S 4,800
s 11,200
01 M=8l 16,000 0 16,000
O&O0HI =7 HEHM XI&
80,000 2005 16,000
< 4,800
= 11,200
=g Jaes g 15,000 0 15,000
= 7,500
< 2,250
T 5,250
201 el 15,000 0 15,000
= 7,500
== 2,250
o 5,250
01 AR2t2ld 15,000 0 15,000
OJt=gd ot g9 2
15,000,000 * 14| 15,000
= 7,500
=S 2,250
s 5,250
3 54 |4 855,980 1,071,600 A215,620
& 61,134
= 794,846
=2XEM X2 250,000 250,000 0
307 elztol & 250,000 250,000
02 2B YA E X 250,000 250,000
O==2X&HM X&
300,000 %2, 083. 333= *40% 250,000
IIEEaMel NS A (RHA) 100,000 100,000 0
402 2I2F X201 & 100,000 100,000




AN SEMRSH
M SDZTNM U SIASED
o2l 3E sHg =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 BIREXHEAIY B E (AR ) 100,000 100,000 0
OINES L] HEAL (XHH)
50,000, 000& *47H 2=+50f% 100,000
LS ZE NS A 40,000 76,000 36,000
=S 3,600
s 36,400
307 21201 & 40,000 76,000 36,000
== 3,600
[Ea 36,400
02 LB HANHEE 40,000 76,000 236,000
OF L3 HE AL (ZHIFIt 28,0008 &)
5,000,000 *10IH 2= +80% 40,000
= 3,600
= 36,400
Sl FaPNEINL-) 26,700 36,700 /9,000
= 4,200
o 22,500
402 2I2F X201 & 26,700 35,700 29,000
== 4,200
o 22,500
03 2IZHAETAIHHI 26,700 36,700 29,000
O=4ZE NS (Z2HIFIt 12,7008 &
) 26,700,000 * 14| 26,700
= 4,200
= 22,500
AFHMZAIE K& 126,000 224,000 98,000
= 8,400
o 117,600
402 2I2F X201 & 126,000 224,000 98,000
== 8,400
o 117,600
02 RIINEASEZ(0IETHR) 126,000 224,000 88,000
OAFHMZAIE (ZHIZFIH 98,0008 &)
180,000, 000& *70% 126,000
= 8,400
= 117,600
SFEF ICT JIHEHI 5,000 20,000 15,000
405 KHaHF S| 5,000 0 5,000
01 ML ESFSHI 5,000 0 5,000
OLFH=ZICT JIAHESI 5,000
—AF=FICT 2M Z2UH £X
5,000,000 1CH 5,000
AR MNE e HatXelAEX#A 41,880 15,000 26,880
= 8,514




AN SEMRSH
M SDZTNM U SIASED
el FE Mg =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 33,366
307 gl2tol & 21,880 15,000 6,880
=S 2,514
s 19,366
02 QB AANSEER 21,880 15,000 6.880
OXFHE= datxclAlg 2l XA
3,000, 0002 *9JH 2= +50% 13,500
OHFAE MEAM X3
40,0003 *4195+50% 8,380
= 2,514
Ea 5,866
402 212+ X201 & 20,000 0 20,000
== 6,000
o 14,000
02 SIINEASEZ(0IETHR) 20,000 0 20,000
OXFMNE= 3t MelAld X
40,000,000 * 1IH 2 +50% 20,000
S 6,000
= 14,000
SHIZSEN NRA 60,000 60,000 0
= 9,000
o 51,000
307 @I2t01 & 60,000 60,000 0
s 9,000
s 51,000
02 LB AANHEE 60,000 60,000 0
OEHIZESEAXAAG (ZHIFI} 30,0008 &)
5,000& %20, 000kg*60% 60,000
& 9,000
= 51,000
HHIMEE DE=AHK HMAHAS 21,000 0 21,000
= 6,300
[Ea 14,700
402 2I2FX=01 & 21,000 0 21,000
=S 6,300
s 14,700
02 RIENEASEZ(0IETHR) 21,000 0 21,000
OUHIMEE D= =X MAHA
15,000, 0002 x20H 2=+70% 21,000
< 6,300
= 14,700
=A =Xl 2el X 64,400 260,400 196,000
= 19,320
Ea 45,080




AN SEMRSH
M SDZTNM U SIASED
el FE Mg =4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 64,400 260,400 196,000
= 19,320
= 45,080
02 QI X2 AL E R (0IHTHR) 64,400 260,400 196,000
OEA 2. M2l 22l N
92,000, 000& *70% 64,400
=S 19,320
s 45,080
E2R 25 HMeldl X 6,000 18,000 A12,000
< 1,800
= 4,200
307 lztol & 6,000 18,000 212,000
= 1,800
= 4,200
02 2B YA E X 6,000 18,000 212,000
OlE2L 25 Heltl X
10,0002 *1,000= *60f% 6,000
= 1,800
o 4,200
JE2R XMeldl XI& 115,000 0 115,000
307 212+01& 115,000 115,000
02 LB HANHEE 115,000 115,000
OJNESL Hell X
10,0003 %23, 000=*50% 115,000
SMESE Isst 114,353 116,194 1,841
Il 19,925
< 56,398
= 38,030
SatE0152e] X 35,050 36,050 0
J| 17,525
== 5,258
o 12,267
402 2I2E X201 & 35,050 36,050 0
Il 17,525
= 5,258
o 12,267
03 2I2+LAEAISHI 35,050 356,050 0
OF¢=0I8 N2l K&
9,6002+3,6515 35,050
Jl 17,525
= 5,258
o 12,267
=S HACCPI 2 E 4,200 5,600 1,400
7l 2,400




2N sEUKRSH
M SUPZTNM U SIASED
ol SMESE 0S8 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 540
= 1,260
307 212+01 A 4,200 5,600 A1,400
| 2,400
= 540
= 1,260
02 QIZHBAAIEER 4,200 5,600 21,400
OBLSHPHAE T2
6,000,000& *1JH 2 *70% 4,200
| 2,400
& 540
= 1,260
MWRED ASUS SHSTHE OS] AL (REAY 70,000 70,000 0
)
& 50,000
= 20,000
402 SIZERH=0IH 70,000 70,000 0
& 50,000
i 20,000
02 QIZEXH2 AL 22 (01 & TH &) 70,000 70,000 0
ORI ASU= SASEUE 2=I|((
&EH 100,000,000 *1JH 2 +70% 70,000
= 50,000
= 20,000
AEHHISE A XIRANY 2,100 1,764 336
& 600
i 1,500
307 212+01 ™ 2,100 1,764 336
& 600
i 1,500
02 QItBAAIH E X 2,100 1,764 336
OMBHSE HR7Y X
1002 %30, 0009H*70% 2,100
= 600
= 1,500
SH,E2el A XJAY 3,003 3,780 NTTT
307 2I2+01 A 3,003 3,780 NTTT
02 QIRHE&AAIHE B X 3,003 3,780 NTTT
O3, 22| &t XA
1102 %39,0000H*70% 3,003
Y 2HZH (sHMRSH) 281,568 281,859 A291
AR I (SRS 233,112 226,923 6,189
IARIH (sFARSH) 233,112 226,923 6,189
101 QI24t| 233,112 226,923 6,189




SENQED
HER2HEH (SRS
2 IH(s=MFSL Q&)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 8= 205,867 204,110 1,757
OAIRte| 28+Y 149,883
—6= 12,5312 x5 +50Al 2t 123 37,593
73 11,3193 x6H*50A| 2t 123 40,749
—8= 10, 1623 x7H+50A| 2t 123 42,681
—9= 9,620 x5H*50A| 2H 123 28,860
OJIEY4Y Hia2R =2 50,962
—6= 12,5313 +«5H*17A| 2t 123 12,782
72 11,3193 x6H*17A| 2t 123 13,855
—8=2 10, 162R&lx7B+17 Al 2t+12E 14,512
—9= 9,620 x5 *17A| 2t 123 9,813
OX I b| 200,845,000& 2. 5% 5,022
02 JIEt& &2 23,548 19,260 4,288
O3SLA=2fAt 22,973
—Z2RY
9,023 x1H+57 A 2H< 12 6,773
—fg+Y 50,0003 x 1« 12& 600
—HHEESSY 900,000&x 1+ 123 10,800
—=AXI&b| 400,000 x 18+ 12& 4,800
OX b 22,973,000 *2.5% 575
03 SR (RIHL) 22X B 3,697 3,553 144
Oor7a28(14) 3,697
—5222xY 157,256 *1H 1 158
—AZ2HeI
19,6573 *1H*15A| 2t 123 3,539
Jl2dbl(ss428) 48,456 54,936 6,480
ll2dtl(ssA4RSh) 48,456 54,936 6,480
201 L2 AY| 41,49 45,036 A3,540
01 AtR2elt] 41,4% 43,536 A2,040
OARID| A2F 72 L 22/H|(BH)
198,000 x5El x 122 11,880
OZWU22A SHHI(BH)
8,000 x24H 92« 12& 20,736
QR E2RA=EZ(EY) 200,000& =12 2,400
OJIEr2gHI(BY) 6,480,000& 6,480
202 0idl 3,600 5,700 22,100
01 =LHO4 b 3,600 5,700 A2,100
OSSURED AREF(5H)
300,000&x 1+ 12 3,600
203 HRF&lY| 3,360 4,200 A840
M EAM2LHRFAY| 3,360 4,200 A840
ORAN2ILRF&I 280,000& 12 3,360
HRES(=Fa7SH) 1,100,000 0 1,100,000
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